
Student Exam No:

GAIYPAT UMVERSITY
B.TECII SEM IV CIVIL ENGINTERING

REGI'LAR EXAMINATION MAYJUNE 2013
SUBJECT: 2CI402 SURVEYING

Time: 3 Hours Max Marks: 70

Instructions: - (l) Amwer to the h'o sections must be written in separate

books.
(2) figures to the right indicate full marks'
(3) Assume suitable data if required'

SE€TIQN-I

Describe the procedure of plane tabie in detail'

Explain rhe Rise fall and Height of instrument meJhol l1*El

answer

(4)
(4)
(4)

(6)
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Ql (A)

Ql(A)
(B)

(c)

tB)
(c) c,rrlat offsets were taken from a chain line to a

Itistanco(nn) 0 20 40 60 80 100 120

Offset(m) 1.5 2.5 3.5 3.0 2.8 , , , 1.4

caicffi traPezoidal nrle'

Draw cross section of theodolite and function of each part'

OR
Explain the resection method with the help of two point problems'

What is peflnanent aolusrment? Describe the two-peg method of adjustment

along with neat sketch.
To" ?"ij"*i"t o"tpltafcular offsets were taken at 20 m intervals fiom a survey

U"; ;; ;;gd; boundarv line: 1'2, 6'3' 4'2' 4'3' 
"7 

'2; 7 's' 9'2' 0'3 meters'

Calculate the area encloseA Uetween the survey line' The irregular boundary and

Ae nrst anO the last offsets, using Simpson's rule'

Discuss any one methods of traversing-by theo{oJit.e , . .,
Write advantages and disadvantages ofplane table In delall'

Find the height of a 'I'ee - beam above the floor level' The R'L of the floor is

100.880 m' and the staff reJitg 
"t 

tftt floor is 2'155 -m' The reading on a staff

illd;iJ; down against the uriderside of the beam is 3'665 m'
OR

Draw Gale's traverse table and discuss steps for plotting by it'

An excavation is to be made for a reservoir 26 m ling and i 5 m wide at the

;;ttlJ, 
"ilil; 

slope 2:1' cJturur"tttt uolume of excavation if the depth is 4 m'

a"tt*i in* iftt ground surface is level before excavation'

Q2 (A)
(B)

(c)

Q2 (A)
(B)

(4)
(4)

(4)

(4)
(4)

(3)

(6)
(s)

Q3 (A)
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(B)

It -was not possibie to occupy D, but it courcl be observed fiom c and D.carculate the observarion thaiiou*l not be made taking DE ,; ;d", urri,ningall the observation to be correct.

SECTION - II

Q'4 (A) A Page of a revel book is shown in the following. Filt the missing reading and (6)calculate the RL ofall points. Apply the usual checks.

Point 8.,9. L,t fl^t Rise Fall R.L Remarks

I 2.150 4.50.000 B.M.-I
, t.645 x 0.500

J 2.345 x
4 x 1.965 x
: 2.050 1.825 0.400

6 x X x 451.500 B.M.- II

7 1.690 1.570 0.120

8 2.865 2.100 x
9 x x 45r.250 B.M.- III

The following observations. were made for a closed traverse ABCDEA.

Included Angte

rs12.1

=l3lo42'
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(6)
(B) For a closed traverse ABCDE the lelsth.and U"ttl"el;f.f"^

il"*.;t;pare gales traverse table for the traverse' slrowmg

"^"ir. 
efto draw i,uverse by taking suitabie scale'

lines are given
calcr,rlation for

(4)
(4)
(3)

(6)
(s)

(A)
(B)
(c)

(A)
(B)

Qs

Qs

(4)
(4)
(4)

(6)
(6)

Q6 (A)
(B)
(c)

Q6 (A)
(B)

List our the method of locating sounding',Explai:r axy one'

Write the procedure for setting out oI bullolnts'

What are Zero circles? 
OR

Define: (a) reduced level (b) bench mark (")9u:l' tigl: 
"^.,

The foliowi'g ofi.sets were ralien no* u 
"Luin 

tine to a hedge at regular interval

of 5.0 m
6ri#i.l t 2'7 2, 3. 4 6,5'23, 6'80' 4'86' 3'3s' 1-o,o:31t:r1'uo
Determine the included between the chain line and the hedge by (a) Mid-

"taU"t. 
t rf"' (b) Average Ordinate ruie'

State the Sinpson' rule' What are the considerations and limitation of this rule?

nl* i" v*,i.'errnine the capacitv o{f::*:-ii.t-?,-^'

Vfn* .. tft. different corrections applied to leveltng'r

Errlistmethodsoftraversin-g'Describeiapeandtransitmethod.
Give difference between t"#;;'OT;'*d" and Deparftre (ii) Consecutive

Jo-otainu,.u and Independent co-ordinates

Length (n)

362.55

218.00

I O J . L L

195.95

278.53

Bearing
---N:T1o'w--

----N3r"08'E--.-

Lire

AB

BC --stofas

----s6650'E-
CD

DE
s32020'w

EA

EI{D OFPAPER
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